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Security Analysis and Portfolio
Management
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Second Year, Examination-2019

Time: 3 Hours Max. Marks: 80

Note:- This paper is of Eighty (80) marks divided into
three (03) Section A, B and C. Attempt the
question contained in these sections according
to the detailed instructions given therein.
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Section-A (EIVs—®)
(Long Answer Type Question) (€€l STRI dTel 9¥)

Note:- Section ‘A’ contains four (04) long-answer-
type questions of Nineteen (19) marks each.
Learners are required to answer any two (02)
questions only. (19x2=38)
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1. What is Investment? Distinguish between

Investment and speculation explains the
objectives of Investment.

e fry wead €7 9w ud decarsh # =R
W HRA 8Y I & Iga Fad1sy |

2. What is instrinsic value of Accurity? How it is
measured? What are the considerations
involved in this valuation?

ARG g I A RIT FASK o7 $HD! T
fPd YR & AT 87 ARG Hed ITUET H
D 9§ de7 faareiy 8?

3. What is portfolio risk? How it is measured?
Can  portfolio risk be reduced by
diversifications?

YIEhITordl SIRgY T 27 $9dT J1u fhd JhR
w87 R fafdefipror gRT uIdwIferar SiRkaHi
BT HH fhar &1 Fhar 27
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What are the process involved in a good
portfolios management? Explain the steps
involved in a suitable portfolio formation.

grewiferal e § fafed ufshar 9wsm=sy | e
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Section-B (ETvs—4)

(Short Answer Type Question) /(&g ITRI dTel UeH)

Note:- Section ‘B’ contains eight (08) short answer

:ﬁ‘c’:—

type questions of Four (04) marks each.
Learners are required to answer any four
(04) questions only. (8x4=32)

Gus W H A6 (08) g SIRI aled Ued A
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What are the various forms of investment
alternatives? Give a detailed account of any
five.

faer fawen @ A= w7 @ar &7 o f dr=
&1 U fawga faawor
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2. Define risk and distinguish between
systematic and un systematic risk.

SIRgd  HT ORWING @Ig | ERed U4
JIIRYT FIRIH H IR I PHIFAU |

3. What is Industry analysis? Why should it
follow the economic analysis.

JENT faeeivor i Ag@yol &7 SN faweryor
BT 3MfH fATITOT BT ATERA R HAT A1 |

4, What are the three forms of market efficiency?
State its implications.

IR QAT & o ®I I I 87 sIb
fafedral o1 gasmgy |

5. Stocks are considered to be risky but bonds are
not comment?

TIH B SRGA wRT AET ST 8| Afh arvea
T e | fewof ST |
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How does Black-scholes option pricing model
help in finding out the option value?

ol Wied fahed Jou FuRer dfsa &
UhR fddhed Hed &1 Udl S H J88 HRAl o7

Discuss in detail the capital Asset Pricing
Model ?

Yot aReiRy o Rigrd @1 fawga fad=mr
HIfTT |

Mutual funds offer best form of Investment.
Discuss.

A B IR BT FaARM WI Y B @ |
=l DI |

Section-C (©Us—T)

(Objective Type Questions) / (ERT:[,ﬁFEF %)

Note:- Section ‘C’ contains ten (10) objective type

questions of One (01) marks each. All the
questions of this section are compulsory.

(10)(1:10)
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1. Centre points of investment policy is
investable fund. (True/False)
foraer T &1 qemR e 9 Iy 2

(< / arrc)

2. Grondisky divided industry growth cycle in to
three stages. (True/False)
Uifewd 5 AN faerg g% ol 9 oRoil H

aHad fohar g | (| / 3rc)

3. Cut in Government subsidy is uncontrollable
risk. (True/False)
IRBRT TEIdT ¥ w9 srfaeroefiar Siikay 2|

(T / 319)
4. The growth in book value per share shows the

growth in reserves. (True/False)

gl IR P eI H gfg WUSR Heg ¥ gfg Bl
<RI 2| (e / 3rre)
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5. Dow theory was developed to explain the dow
Jones industrial averages. (True/False)

Sfd O SSRTIT TaRST B Fas= & forv
Siq Rrgra faeia far a7 o)
(T / 31<Y)

6. Default risk is lower in Government bonds.
(True/False)

BN 910 ¥ fEhlee WIRTH B9 gaT 2 |

(T / 3rc)

7. Conceptual frame work of valuation through
P/E ratio arises from capital growth model.
(True/False)

@/ U & ARIH H HeATHA BT ddIiNGD
i fR=dR fdrg Jreer ¥ SU+ 8idr 2

(T / 31<Y)

8. Portfolio diversifications is to avoid systematic
risk. (True/False)

ardpiferal fafqerdr, Rehfes waRed SiRkaH
J g2 B fow 2 GRVARR)
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9. A run in the stock price is an uninterrupted
sequence of either rise or false in stocks price.

(True/False)
i g ¥ ANl Wi g H gig 1 FRmEe
&1 U fafer arged 2| (Fg / 3rcy)

10. Scope of portfolio Management is portfolio
analyses reversion and construction.

(True/False)
UIehifordl Ydwed &1 &5 UIichiferal faveiyor
e o FETT 2 | (T / 3rca)

fkkkkk

$-242/MCM-204 8 P.T.O.



